69 Written Answers
fedi w1 A= -

qEm fRam @it 1982 @
ARTA wer gww [T IAT wW A
fazaifea aran % fagdr % & #1 wraza
agy WA a7 Wi g -—

(drz9i =a R)

LTHEA s

HET 9567 216,200 218,867

T g 539,591 543,740
gz

AVI[AT 5T qEF AEET &1
uwraza #wrenfis feyma fasee gran
famrér srare 9w fEar amar £ o
ardza % &0 @Y Fw genfm
FqmeHar, VisT § gyl et &
wife F w013 #§ @y WAt § | Ao
wES % IR Y, VIS] §YETT FIRT
Aaewe, 1982 H Frmawr af gfa
fATET, 3,50,000 WTH =q #Hinz
1 HF9 HF qgAAT H§ AUTHIW AVEIT A
aq 1982 ¥ afs fanwEdi dinan 2,24,000
HET #A & wWaqa wiET wiafza 7t
wf | zaf st % fAwid gl Kas
nfedisarg| w1 srafza #) a€ qran
wifW& &1 v 9w mnA H, 219y
egTegnT wE, (9R2d Iqlwa Ay
W€ 3,00,000%12F Z7 #1 fAwTE 7,
faan faarf g Qe afeqiwargy
Y aw@ wife Agf & B gaary
7iIsT ) AN 1982 % A WHifaw
et fAwer g 2 fagrd § g1aaq
4,91,000 1 T & WA Wz,

ad fywi$ giv Fedr afvasar
nraEgEA o nrfae &, wrgfea
7T |

[27 APRIL 1983]

to Questions 70

vt aar A€ oF 1% g5 W
ferafor

140. T TR TR qfeAly 0 o
| Ty WAt Y AN w G

(F) 7 wzar § 91 731 9%
wifaa @ 9@ & fanie 8 wElae
AwATET wAEr afafs o noar gfade
e 7 fean &

(m) ant oot wwg f& =5
gq ga# fagima Ao saE @
29T a=1AT £ AT

(n) »fe gi, MAFT Eqri s 417
Hoeagr qarE !

3| el (W 7o o o W W
wWedt) © (F) & (%) awda afala
7 ow RE wega 7 g fand e
azate % fam darEe T TASEEm
% dufeaw vasi w7 gaa far v &

mieat w1 g fwut st

141, 5T T WTE qTRAE ;A0
Yo et g 3Ar AT AT BT

(%) war adt 9F ATF-YA A
1A F uralq fagr & w9 @w A
= Aty faode arfear e ) adl
F2 TAY T FVUE ;

(@) 8 w3 ¥ TwE A
reaqr gifa g #wl

(w) #1 Avwre f®z qfaer &
vt aifzoi fee i s@are 37 awEar
q7 fasre w4 ¢

ImHAl (st oo #iYo Do MAT @A
atad) ;o (%) uzAr HiTEEYT w
Frg AE weTenT Ay Ay wEE A
ATATIA KT FERES QT 4EE AT



